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.
Part 1: Multiple Choice ' Y/
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1) Which expression is equal to V¥y'zg “ )(qld:’? (x '5(3 2) /y —"F/d}:
- 121 \ 9 ,7%.
c A Xy c W Y Y, q, A
238 14148 X v 4
@ x4 ydze D xdyiz N .
2) Which is equal to an integer? Y ),
Y8 (¥243) = 3 Ye1(4243) - 433 NV AN
T F )" J?l H - (3 (3 { O /(3 =&
G ,&( )= /6% = 9
3 /3 AWl
(3% (29Y3(3%)(3%) -
3) Which is an extraneous solution to3x —1=3x -77?
5 .
D 5 o

5 10 : .
C x= 5and x= 3 are both extraneous solutions. There is no extraneous solution,

a 2 Q= Qs LYk v O=d¢(2,5Y-0)(3-
(N3x - PIERETD)) o (3 )(
Bx-f = aPqaxvyq  OB-ISNE30X 0 OxB345)(30)

4) What is the solution set to the equation (6x - 1)% =(2x + 1)% ? V= ;’3 X = 7
FJ H {1.5} >
-~ G - Q 15

5) Which could be the equation for the graph?

A F(x)=-\2—x +1
B fx)=y2-x+1
. f=—JxZ41 3 /’
O @ F(x)=—y/~(x+2) +1 asunll

ﬂzf”?d*m RMHC &—o\xd 4
ngvF_ipCj‘rm OJfA’ X'MJ
Tan lOst w,(f\a (G\N,(O [ wn ?1- UrO
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Part 2: Open-€n ,
Simplify each expression-A

6 34/16x7y°2

P e (eI e )

5(2) (x)(é‘d_"’)(d?) _.80\009\)_3:6
)g%iff-j JE - 57 7 47

8) V81x12

313 33
ek —
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GAEHE
(2%)(2%)(5%)= 2% 3% Y]

Write each expression by using rational exponents. Assume that all variables are positive.

13) V202° 19627

(204)" (3)"
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/ 15) (V=9V%)" 16) (Vi)
(DD ( O “’U

_q s/ 4 - 1) = ( 'P)
M /l%‘x%*

Simplify each eag)resswn and write it by using a radical. Assume that all variables are positive.

17) (—12x5)3 18) (a?b*)s
(_)Q‘SS/S'(XIg-yg \IQ‘J b‘—l - _3\)-;_9 3 b,_, -
12%)(xY) = [x k1’ (<l o6 )=

/b-":]qz J
(&) 2L, Yot o 8 | 20)aianey
8 To o i
o5 n (T A5 = BT BT
/et - b \ w o 3

Explain whether each statement is sometimes, always, or never frue Jor nonzero values of the

variables.

21)3'Jx_=x2 22)_§/E<0 %mﬁw\j‘

(XG)'G’L )(D\ L W x= &, 3T <0 breowse =9

(x®)*V B o X = =& -3 3O tarcaore
774\5 :s c.bw vt No metter ot (- >0.

\IGﬁm‘OUrM be, wt w

/
& Lﬁs&& tlte’}rap,?t é'fo f ( \fu x as a guide, describe the transformation and graph each
Junction. Then, state the domain and range.

23) —4v/x +1 N QoG -
e Rofleat over X-0x13 : Lo, 8
e \VerNeol Sketch tﬂ o fecter of Y '
* Veriveod Woans lofion up l. %N&}S( )
2 | -ob
> A, ; a
Z( {OJ 0) (O, l) : B 7 4 54 -3 -3 L 1 §x
(), —l) (L) 0% A
(4> (D 87 X
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Use the description to write the square-root function g.

26) If f (x) = Vx is transformed by translating it 3 units 3= up, then stretching it vertically by

a factor of 2, and then finally reflecting it o

Plx)=Jdx .
'F’Cx)ﬁ’b:\)?*’s
L(Tx 1= dx +6

27)If f(x)=x -1

function be?

ver the y-axis, what will the resulting function be?
ECX) : Q)% *’Gi

is transformed by translating it 2 units to the right, then stretching it

horizontally by a factor of 2, and t1=1;1_1 finally reflecting it over the y-axis:TNhat will the resulting

Px-2)= J(x-2-]
9—6&*9‘) = \] 2(x-2 -)

u"élx . "U
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Solve each equation. - 2
29T02)= 6V + 1) J.Y_‘Z ;! Zg)@ (,,})>
10x = Q¢ x+1) =¥ -0 e Y
Gx -1 (>< )~
10x = Fx + (mc—JQ 2 X= “Yx+Y
j)(‘;q 10x +1C

O: (x-ﬂ«)fx -P)

x+1G = &- \YQ?B)&— D) (on exhen Shoet)

X H1G = (% ~x Jxrm = x JxrD F(xtm))

XHIG = %= DxJxriy rx +H7
-x0 -x 1)
- Jl;‘g"ﬁ‘\}\7 of on axben sSheet) 13,13

32)fx)-((2x +x3§)3) BashhS 33) (x + 3)3= vy

- dxr35 X3 = (-¢)°

X—Q«X-&BS-—O Xi’&: 'Q-IG

X -ND(x+5)=0 = - 219
X=) X=45

Part 3: Word Problems
34) The cube root of the square root of a real number n is 16.What is the value of n?

/3
3T =10 5 (= é-)@”%—)éﬂﬁ =16
=10777216
35) On Earth the distance, 4, in kilometers, that one can see to the horizon is a function of

altitude, 4, in meters, and can be found using the function d(a) = 3. 561/a. To find the
corresponding distance to the horizon on Mars, the function must be stretched horizontally

by a factor of about2 p
a. Write the function that corresponds to the ‘“’T B
given trnsformation. I (§ 2)= 3.56J% o I T 2
(2= 3.5¢ W 25 | otk
b. Use a graplithg calculator to graph the function and 20 [+ AT
the parent function. Sketch both curves on the coordinate plane. :g /.
_a|d (6) a | g@) 1210 0
O 10 e e e
20 |, £67
qJ0 |16 . - — dh()a)
6O |20, sY j
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Use your graph to determine the approximate dis

C.
altitude of 100 meters:
onMars_3,50 JEE;&Z 20.5m
speed, S, in miles per hour that 2
tion and d is the

an be used t0 estimate the
fficient of fric

36) The formula s = J30fde
into a skid, where fis the coe€

car is traveling when it g0€s
length of the skid marks in feet.

Kody skids to a stop on a street with 8 speed limit 0
the coefficient of friction is 0.7. Kody says that he was driving ©
to prove that he was not speeding.

d in terms of s.

a. Sol\;e the equation for
ISEXY So_?’rg_d i <%
d  mr @

speed of 35 mi/h?

&=
How long would the skid i ivi
g e skid marks be if he had been driving at a

o
(2850 5.3 4

3007 ~
C. Was Kody speeding or not? Explain how you know.
S'JP-P _ UU?SL( %S vq . émc_g +he \Sh{d mtzrks were Of‘)&‘

ac \!f’Mf’ o"’&‘i’m‘:h wolldl e sSeff, I’\,C)

woulo!
& Pt atual ety
= J (3O(7X59) 33.06 mp A

arks measure 52 ft, and

£35 mi/h. His skid m
30 mi/h. Kody wants

nly about

b.

length of the cube to the nearest centimeter?

3
S = \/olwvu

3j?>=’.}::5—2 Gom>

S= (C.95 ¢m
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Puzzle Time |
W .
hy Dig The 25-Watt Bulb Flunk Out Of School?

€ |

1. (82)1/1. 8.”3:

Cobvrinht @ Dt 12— 1
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What Has Lots Of Eyes But can’t See?

Puzzle Time

i : i ber. ;
_\V{xte the letter of each answer in the box containing the exquISC num ///,_—‘
N!qtch the graph with its function. Answers
1- AY 7 e . : - 2

. :_5_ 2. | n 5 " f(x) . ,.__-—--x
& g 0 ropa
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-2 ull PR 4 ;
1
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LYy | 2 4 6 X B
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3. o5
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—— et I 1/4 2
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ﬁ Puzzle Time

What pjq 1

Complete each e
© answer in the

he Cucumber Say To The Vinegar?

Uaw —

c b E

S Is A Fioe

\T,/\

| J
CoHe a) U, Lnio

€Xercise. Find the answer in the answer column. Write the word under
X containing the exercise letter.

%14 Solve the equation. _
A Vix-3 =5 B. Yx-4=-2
-_-‘—__-—___——
Xm C. 3V2x+10=22 D. %.3/4,: -1=1
3
\, E. 23/x+6 =10 F.(x—27 = €A
X =M
/FiilE

= 4

YO

A (B oy

Gx-3=25 X — —Y =-f

@ 3E+)O=9€-

SJox = 13- 9s
S g S 7(_1_%)7(%"’ SJ; - N x99+ 4
(Nox=() (m % & x =2 X-9 =lg
9‘7(':-}6 7x 5,9_ X—C)Q— X = qg
= x - e
>59 o > = 1§ }@Jx ! Q)((xrad%a
4 - \ = a
()(-—.: A 9:;' @@(r‘;@ B w? ‘:q l‘f\\rtx (;T&O i(
X% Dx 5x—3 :S__Q-)(Ha- —SG = -\ 5 G)(i?q
O et J/re?) 6;?5 7 =\x X =G x>
( X LI)CX ra2 X = JC) 2 Copyright © Big |deas Lear'f}ir?-uc
rights;res
X =4, 16 Qg,izrces by Chapter _—

Fx=H X..—-L/
% =19

G. x=-/2x+8 H V5x-3 =~/2x+12

- L Vx=-7=7-x J (x+30)% = x
\

xa“‘
PICKLE

Fefax-1=1 (E)FRen BT
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@ FB3)_CT.5\);3:3(”D>( ) %) "
OVF 3= (4= (316773, <
1Y a5 - (29 B7ET 37X
Do Az ifeszr- 90 7

B (37)-Gx)"
3Ax-1 = (3x~)) D Ax- ) = 9x = 4o +49 >

O-=Gx g8 x +50

O- @x I‘Sx) (C{)x *50
0= 3x(3c5) (- BEx5)

O- 6)("03(\% %)
5(“—-—-" \/)( /\5)(

A
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: @ (@K*lyf:(Qxf'/B’/‘z
( (Gx- )%):@Qx"/)%

@x—/)&«l (Dxf/f
Ao et = (QXH)C'*XJ* e #1)
oy =10 H = O3 1057 Ox +
O= $u3olx+4ifx
O~ 2x(Yy*= 19x+9)
O <7 Do (97565 G i
O D (oy (on-8) )3V
=0y (88

CX=0 Xx=% @jﬁ,—;}: QX\K 35
— J <\IX\—Z>—)3 CX-)S)Q\
@ X-3 = (%5 x-1%5)

_2 _ a
—x 3;/ e el |X&_—”“/7 X=3 = X&'SOX +Id25
2 INENToe
(3 )=ex S5 — GG 1 e
(x Y ) = ‘/x;(x-l—/)) o ; \/9-
X‘-/_,_CQ =1 3 3t W =
<)< +] = L/X'/“G&’)ra\ \.’L_ = 3/i7 )q
U] =0 el
X:) S exo
X=)9 .



